)
LR
Learn Russian

learnrussian.rt.com

Difference between “Omarogaps’
and “n3-3a”

When the situation is favorable for solving a problem or there is someone who helps
us solve a problem, we use 6narogaps + ueMy, KOMy.

biiaronapst MOUM POIUTEIISAM S CTAJ brnarogapst OTJIMYHOM MOTOJIE
TAKHUM IIPCKPACHBIM U YCIICIIIHBIM MbI CMOITJIA ITOJOJbIIC IIOT'YJIATDH
YEIIOBEKOM. O MapKy.

I became such a wonderful and successful person Due to excellent weather we had an opportunity
thanks to my parents. o walk in the park longer.

If there is something or someone — a condition, a situation, a person — standing

in the way of our plans, we use the construction n3-3a + 4yero, Koro.

ITO M3-3a TEOSI MBI OI103 141U H3-3a CHCroIiaa CaMOJIEThI HE MOITIN
Ha crekTakjab! Tel cIUIIKOM H0JITO BbIJICTCTHb, U MbI OCTAJIMCh HOYCBATD
0JIcBajIach! B a3POMOPTY.

This is because of you we are late for the Planes could not take off because of the snowfall,
performance! You dressed up too long! and we had to stay in the airport for the night.

Table of difference between “Omaromaps’ and “n3z-3a”

osaromapst + Dative u3-3a + Genitive
positive condition negative condition
bnaronapst Tebe y MeHs BCE XOpOIIO. 3-3a pabOThI Y MEHs TOCTOSIHHBIN CTpeccC.

biarogapst Mame st BBIpOC XOPOIIUM YETOBEKOM. N3-3a 10151 MBI HUKY/Ia HE TIOLILIH.



